2023 FE H1E BRAERBLAURSE (WE) RREE

(1) Gt30=)

i1 4 5 Létanﬁ
Ho

28 KFEHM:0=N, —Scosb
SN ¢ 0 = Ny — Ssind — (M +m)g

fi 2

I
= L L L
Al 18 i 3 4 5 0:NB-Tsinﬁ—NA-Tcosﬁ—mg[j—m]sine

35 Bh i § = gl
f5 4 1—2sin* @
3 FRIET M 00 <0 <30°
1
i 5 415 —
: # tan @
2 .2
L fil 6 41  H =hcos’*0 +M
124 29

vy tan’ @ + 2gh
v® — 2gh

M7 48 tang :J



2023 &£

f 1(a)

(b)
(c)

I (d)

145
fi 2

fEl 3

fE 4

II

g = fEl 5

[ 6 (e)
)

I (g)

gt1 3%
(h)

i 7

2 5

2 5

2 5

2 5

2 5

2 5

2 5

35

2 5

2 5

2 5

3 M

2 5

2 5

F1E RX
ARELALERE (ME) RRiEE

(2) Gt30=)



2023 FE H1E BRAERBLAURSE (WE) RREE

(3) (314 0 %)

- 2m cPERE:O
A-l ; 25 yBE: —d
F10A8 2 3 L:\/x2+(y+d>2 o +(y —d)’

ﬁ:ﬁ 3 3 /'{_:_l: LO = 2d

2 2 2 1
M4 38 o+ (y+d) —\o +(y—d) :[n—?]/l

1) 1) 4
=11) 35 N ——|—< N +—|—
i [ 2]2—d< +2]2
Y
A-1I
= H
I:I-I_]. ].n\\ 2}{_:_"‘
f 6
S
0 el
3 4% d:[N_i]i
2)2
3
2 R QinzgnR(Tz—Tl)
7 5
21 Qou =5 nR(T = T)
3
285 W, = nR(T - T)
B 5 8 5
19 2 R/ WoutzgnR(T4—Tl)

Fl:ﬁ 9 3 }f_f"\ W = Qout — Qin
ﬁ:ﬁ 10 4 }f_:_"\ T2T4 = CI’]CZ-%

T,

A 11 4 5 =—
" “Tn-T



